use the product to simplify 



use the rules of exponents to simplify each expression 



(3^-6)^1/3 
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simplify each expression assume the variables represent any real #s and use absolute value as necessary 

(y^3)^1/3 

[image: image2.wmf]y

y

y

y

=

=

=

=

1

)

3

/

1

(

*

3

3

/

1

3

)

(




Simplify assume all varibales represent positive #s write answer with positiv 
exponents only 


w^1/3 / w^3 
=
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Simplify each expression right your answer with positive exponents assume that all variables represent positive real #s 

(4^16) ^1/2 
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3^1/4  27^1/4 
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3^2/3  9^2/3
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